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Read the following instructions carefully before you begin to answer the questions,

10.

11,
12.

13.
14.

IMPORTANT INSTRUCTIONS

This Booklet has a cover ( this page ) which should not be opened till the invigilator gives signal
to open it at the commencement of the examination. As soon as the signal Is received vou shonld
tear the right side of the booklet cover carefully to open the booklet. Then procesd to answer the
questions.

This Question Booklet contains 200 questions.

Anawer all questions. All questions carry cqual marks.

The Teat Booklet |s printed in four series e.g. E LH_ l [ C|or [ (¥} ' | See Top left side of this
page ). The candidate has to indicate In the space provided (n the Answer Sheet the series of the
booklet. For example, if the candidate gets series booklet, he/she has to indicate in the
slde 2 of the Answer Sheet with Blue or Black Ink Ball point pen as follows :

[A]@B]I(C]ID]

You must write your Register Number in the space provided on the top right side of this page. Do
not write anything else on the Question Booklet.

An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers. You
must write your Name, Register No. and other particulars on side 1 of the Answer Sheet
provided, fatling which your Answer Sheet will not be evaluated.

You will alse encode your Register Number, Subject Code ete., with Blue ur Black ink Ball point
pen In the space provided on the side 2 of the Answer Sheet. If you do not encode properly or fali
to encode the above information, your Answer Sheet will not be evaluated.

Each question comprises four responses (A, (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that thers are more than one correct
response, mark the response which you consider the besl. In any case. choose ONLY ONE
response for each guestion. Your total marks will depend on the number of correet responses
marked by you in the Answer Sheet.

In the Answer Sheet there are four brackets [A] 1 B ][ C | and [ D | against each question, To
answer the questions you are to mark with Ball point pen ONLY ONE bracket of your choiee for
each question, Select one response for each gquestion in the Question Booklet and mark in the
Anaswer Sheet, If you mark more than one answer for one guestion, the answer will he treated as
wrong. eg. If for any item, (B) is the correct answer, you have to mark as follows :

[A] @ [C] D]

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to
take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination is concluded, vou must hand over your Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination Is
over,

The sheet before the last page of the Question Booklet can be used for Rough Work,

Fallure to comply with any of the above mstructions will render you lable to such action or
penalty as the Commission may decide at thzir discretion.

In all matters and in cases of doubt, the English Version is final.
Do not Hek-mark or mark the answers in the Question Booklet.
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Hebldameofled (Silicon) flawrer Blaér sL_s5b seobsgs, sryaob
A) spgeolw Crry Blage Gailu gamab
B) ssmeolw edlih dldason Canu @ansh
C) seap 00 G Cleusf]
D) epdu &G G Causfl,
Semiconducting property of silicon is due to
A) ils positive temperature coellicient of resistance
13) its negative temperature coefficient of resistance
C)  wide band gap
18] narrow band gap.

G gpefl Lallenw aubgen w @b Cryb

A) 45 fiflui B) Sdblib
C) 4fdllb D) 2 @bl .
Light from the sun reaches the earth in

A) 45 minute B] & minute
C) 4 minute D) 2 minute.

£Cp Gearfésiu Peaamaundle sm flér sLrédldenn (Electric heaters)
@erogdifl @i wligun (Irons) Luenu@dlng

A) T T B) &

C) gmfgd D]  enp&Grmo.
Which of the following is used in electric heaters and irons ?
A)  Tungsten B]  Steel

C) Copper D) Nichrome.

FCp Qerfasiul@arer 2 usTamadlsd o@n, 6 Gprils Gedasgn Kl
Caumions semalll 2 safing

A) Glind et o e Bl swhswmel

C)  Spe sEal D) Glugpafl Bt

Which one of the [ollowing instruments is used lo measure Lhe speed of water
through a pipe ? '

A) McLeod gauge B)  Pressure gauge
) Screw gauge D) Venturimeter .
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5. wmlesdrussila gngh, ahs sesrs serallu@Gdips 1

A AGamfr L (Ehf) B) s grin(d) ses
C)  gefluresoB(Light year) D) gar it

The distance of stars is measured by the unit

A)  kilometre (km) Bl  angstrom (A) unit
C)  light year D) glga melre .

6. srifue Gerarea(Theory of relativity) #8p Qar@aaiiul g all@eymeiumé
1905- é GlanFHasiu L g.

A) emptrGurt® B) pmbeer

C) BBumt D) spereueeT.

Theory of relativity was proposed by which one of the following sclentists in the
year 1905 ?

Al Rutherford B) Thomson

C) Bohr D) Einstein .

7.  séursogdd smopgsien Golrrday sigesd Haeusdle, ggusam e amauld
o LGursLLRSSLUED seailursT(Moderator)

A) @i (Hy0) B digrerul

C)  aenfi (Da0) D) sgepdaane.

The moderator used in the nuclear reactor at Madras atomic power station in
Kalpakkam is

Al water (H50) B)  graphite

C) heavy water (Do0O) D) none of these .

8. Grubur srius Gubeaadls Gealr s husdlurding 7
A)  erfuggér UV sdiiser allmaryflagrd
B) enrtugu e IR sdltser aloaflagra
)  ybSeysien em rogu o ardulls sdiisd allaanflaugrd
D) erfugi e X sgltast alomanflagme .
Radio carbon in nature is produced as a result of
A}  the action of UV rays on ordinary carbon
B) the action of IR rays on ordinary carbon
C)  the action of cosmic rays on earth’s atmospheric nitrogen

D) the action of X-rays on ordinary carbon .
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9. gdlllé Geuaid £Gy CQarpasiul Gerer S0 magdle: pflsb

Al dlreudsser

‘Ej dleioTiodimen

C)  enybesr

D) ederapblgin Causd B wrdflurs, Eime@in . _

The speed of sound is higher in which one of the following mediums 7

A) Liguids B)  Solids

C) Gases D)  Sameinall.
10, #Gpyaten @hs wrppb, SeRuden S (Fisston) wppd ygmubam @ sy

(Fuston) flapeysefler sdflsnnen 2pper Cleueflinn. sresnore sy

Al Gaudl @yhme Qeudiu 2L DDeTs roEd

Bl uGyprlinermet By grdrmenms wn s

C) o sédlurs wrpme - pardvealle cmbiium g8 Lig

) @wbdly o&# Mechanieal energy) Glewlu sadlurs(Heat energy) LI IHe,

The huge amount of energy released in nuclear flssion and fuslon reactions is
due to the conversion of

A) chemical energy into heat energy
B) protons into neulrons
Cl mass Into energy. according to Einstein's equation
D)  mechanical energy into heat energy .
11. Gsrirmuresd
A)  niflenswrarg B) Qoo Geramig
C  amissen e olug D} siflagperein o e ug,

Drinking soda is

Al neuiral B) amphoteric
L &) hasic D} acidie.
: 12, fppyes seelle sramiufos as
Al e@umaiiu oy &enBea Bl =rdflub 2 savBeu’
) Cl  Qurierdub oysemGa D) Gsmguid o sevBel.
Which of the following is found in kidney stone ?
Al Ammonium oxalate B) Caleium oxalate
C) Potassium oxalate D)  Sodium oxalale ,
« [701] [ Turn over
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13.  fpeem_auppet Aoy U sUEnPSH@GD Ty SET

A srtue CurBamsaed

C)  empLen &y HenEH

B) amiuet enu %ama@
D) saut oL &80

which of the following is a laughing gas 7

A]  Carbon monoxide
C) Nitrous oxide

B) Carbon dioxide
D) Sulphur dioxide .

14. @midy srnrerseher G FSSHTHD LA

A  srdeuesarGeaye
c) D spdlafiiy

B) e wés
D} e é.

Coating of zinc over iron article is known as

A)  Galvanisation
C)  Electrorefining
15. wehelt @il SIGLTGEs sreTUg
A Qumgen
B) oGumggu s SGururd

B) Electroplating
D} Etching.

C)  Gurmiggpi- e QuriLrélut sCuren®

D)  yGurumb.

Tincture of fodine is

A)  lodine

C) lodine and potassium iodide
16. uysgdss ey aiflos

A) Guriss > Lol &b > il

Q) Lo &> Sfif > Quréame

The protein content is of the order

A)  soyabean > €gg yolk > rice

C) egg yolk > rice > sgyabean

Bl lodine and lodoform
D) lodoform .

B @lUeL & > GCuréams > eV
D) Gurées > fd > praL &O.

B) egg yolk > soyabean > rice
D) soyabean > rice > egg yolk .

17. #8yp GPUILEsterauppiet SHLTEL GuUrEheD G

Al gy ghiad —
B) Hyes Qeusfisfl —
c) @urg Slgmeusid =

D} u&semid Gleueiref] -

gmullund
Quot @l
'-asuﬁﬁﬁﬁ
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Which one of the following is correctly matched ?

Al
B}
C)
D)

Liquid gold
Liquid silver
Agqua regia

Green silver

Lead

Mercury
Silver

Copper .

18. &Gy ©OISIC Qeremaubyst &flurs Clurmhab e

A)
Bl
C)
D)

aif]
el
Elrmenu

qﬂnl.] i ilet

whe Flener artudr
e &L Gd)
2ffp sgd

ST sHeteueter srituer,

Which one of the following is correctly matched ?

A)
B)
Q)
D)

Charcoal
Diamond
Graphite
Fullerene

Inactive carbon
Conductor
Insulator

Soluble form of carbon .

19, ulyuéd X g ulgud ey Quresdl, £Cp Panr@ésiu’ Gerar @D samens
Lieren® sfurer efen_amwug CarpCia® :

uligwes I

a) el QLlgr erdlé
b) e e e
€ eanlroes Cursaand
d) smituss sm 2 SHeneu(f
oPGser

a b c d
A) 2 1 3 4
B} 1 3 2 4
{_:} 2 4 3 1
D) 2 3 4 1.

X !'i'wt,'llJ

uCgwes IT
1} eesb Gedusrgd
2) gt srée srpexf
3)  gr&el eflCurget
4) Qeaer&ei &rrjramﬂ
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PGEI 8
Match List I with List IT correctly and select your answer using the eodes given
below :
List I List II

a) Lead tetraethyl 1. Global warming
b)  Liguid hydrogen 2. Antiknocking agent
c} Hydrogen peroxide 3. Rockel [uel
d) Carbon dioxide 4. Bleaching agent
Codes :

a b c d
Al 2 1 3 4
B) 1 2 4
Cc) 2 4 3 1
D) 2 3 4 1.

20. dpsmann eunddlutsmen seas :

2 pdl (A): Qeusiefl GurGL ser arbfléeuBb GluTags Hbenn linwors whigE .

smyewnd (R) : Qeustefl 2y 5afigBanppt S pg Hiet o smad 36

wrridng.

£ @flod @Gerer @iy sflures allenL aws CaihOs(d

A)
B)
&)
D)

(A) s (R) b &fl. (A} dg efluren snyewi (R

(Al (R) 0 afl. syame (A @ sflurer arpenn (R) side
(A) 8! gyemmey (R) geuny

(A) geuny sy (R) &fl,

Consider the following statements :
Assertion (A} Silver articles on exposure to air become black .

Reason (R} : Silver is oxidised to silver oxide.

Now select your answer according to the coding scheme given below :

A)
B)
Q)
D)

x| 7oL

Both (4] and (R} are true and (R is the correct expianatinﬁ of (4)
Both (A) and (R} are true, but (R) is not the correct explanation of (A)
{A) is true, but (R) is [alse

(4] is false, but (R} is true.
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21.
apseremowns ailerhigding 7
ﬂklt WiysGan unsllessenri B) QadsyGeren
C) «-D-gaEstarauyGenrey D) @ ageapbldems.
Which of the following is the chief component of fungal cell wall ?
Al Mucopolysaccharide B} Cellulose
C) @ - D - glucopyranose D)  None of these.
22. Oereumueiarsuhiles erg sflumal Qurmhdlysieng 7
A) oréGe mey - @E sl (Hé st meny
B Or&Glmen - Clpp&GCordy atdmeny
C)  GadeyCare - SjEwlys arths U sall (& &1 deemy
D] @emed Syeme g,
Which of the following is correctly matched ?
A) Maltose - Disaccharides
nj Fructose - Hexose sugar
C) Cellulose - Structural polysaccharide
) All of these .
23. @upenaslise Qupuu@n SlGest aafldle saraumn
A)  ereimGlesmrinfléo Bl #fle
C)  urprofdld Dl @ agepbléme.
Natural lipids are readily soluble in
Al oil B) water
C] mercury D} none of these .
24. 2NADH; gpadefleEhea Quniudh ATP pessansdis asdnaiéas
A 3 : B) 4
C) 6 D) 12.
The number of ATP molecules yielded from 2NADH; molecule is
Al 3 B] 4
C) b IB)| 12,
¥ I’ ?nl_! [ Turn over
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25. dipssen ansdlutsamen sl :

L@;ﬂ (Al: conlrger aentédl, auertdleng wrhpb, wy #rihs WHQIO
BeQuUEsssHle ey ukg wflsdng.

sryend (R): eplyme oetad Cprappee 240 SHFDG.

&Gy @il @Getren GBS ge efiure allen_sows Cetb@s® :

A) (Al (R) o efl. (R) eeiug (A) e sflurer allerssid.

B) (A) b (R} (o afl. pemmds (R) esiug {A) el efluren aflerdealb e,
C)  (A)efl, ayemén (R) geug.

D) (A) geuql, gyenme (R afl.

Consider the following statements :

Assertion {A) : Nitrogen plays an important role in growth, metabolisin,
heredity and respiration.

Reason (R): 1t suppressed formation of flowers,
Now select your answer according to the coding scheme glven below :
Al Both (A} and (i) are true and (R) is the correct explanation of (A}
B) Both (A) and (R) are true, but (R is not the correct explanation of (A}
C) {A) 1s true, but (R is false
| )] {A) is false, but (R} is true,
26, s aursdlubseme ;mmﬂ -
epdl (A): el padwn Qewellué FbukslUL LT gl
srarsde sen@iuedde veien Qedamer FLAueLu
gret(Gaing:.
srpamh () sysedemang Ourl Gadld gley flowa Hers Qe liFpng.
£8p GHLN Perer @il g sflumes aSen_sowg Catplla®
Al (A)b (R) b ef, R esug (A) edpe sflurer allerésb.
Bl (Al R b sfl. gyemmés (R} ssvug (A) e sflurer allerédai Syde.
C) (A) el gy enmés (R) geugy.
D) (A gamn geré (R) e,
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Consider the [ollowing statements :
Assertion (A) : The primary physiological elfects aof nu:cin in plants is to
stimulate the ' clongation of cells in shoots '
Reason (R) : Dormancy of buds can be broken by auxin lreatment.
Now select your answer according to the coding scheme given below :
A) Both (A} and (R} are true and (R is the correct cxplanation of (A)
B) Both (A) and (R) are true, but (R} is not the correct explanation of (A)
]  {A) s true, but (R) is false
D)  (Alis false, but (R} is true.

27. dhiphaeion curddludisenem seued

ol (A): o LBl K snemiuBlh appeemo Gunmehmatic Hle Lidame
srisfaet, Conwr aanGemnl, sbarsfl wHpd Hev a_sfere,

emyeond (R): e berKwurearg 2w Hemsaefld gpuBd Card sfllamu

BHESHDS.
#Qp @Hul Gerer gPiigd sfiurer el owh CaibEmH® !
A (A (R) > &fl, e (R) erenug (A) el sflurer aflendmib.

B) (A) b (R) b afl, syemmés (R essiug (A) el sflwuren allerdab e,
Cl (A afl, syemnés (R) peug.

D) (A seup, syemmés (R)afl .

Consider the following statements :

Assertion (A) :  Green vegeiables, soyabean oil, tomatoes etc, are chief sources
of Vitamin K.

Reason (R) : Vitamin K prevents erosion of the skin in higher animals.
Now select your answer according to the coding scheme given below :

A) Both (4) and (R) are true and (R} is the correcl explanation of (A}

B) ' Both (A} and (R) are true, but (R) is not the correct explanation of (A)
C) {4) iz true, but (R) is false

D] (A is false, but (R)is true .

28, Fatiudesst urflseie suefloenle apljges doelufssh Cledser
Al  gosalla B Gan'gGrréleul
0 gllenGerenGuni e D) urr&diGaimey Gumissl .
The cell responsible for fixing atmospheric nitrogen In blue green algae is
Al Akinetes B)  Heterocysts
C) Aplanospores ) Parthenospores .
% [ Turn over
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29. Qaruiud GurElssid Bnba GensCardy Catbans aerig
Al dlevenssmenandlen Bl y.élg. |
C)  gepsefGurbigpeffsy D) sdGurelldl&aCGaser.
The synthesis of glucose from fat is called
A) Glycolysis B} T.CA
C)  Gluconeogenesis D) Saponification .
30. &Gy aumusuaeupile g GuTmssd GeeTss 2
Al emeulLiflen A —  Qerguuilé sayussagug
B) ealLdldé 'C — fiflé semussaiug
C) el e 'H — hiflés &eniwdiaig wg
D)  emeuliiflen ‘D — Bl sequssagug.
Which one of the following is not correctly matched ?
A)  Vitamin 'A' - Fat soluble
B] Vitamin 'C — Water soluble
C) Vitamin 'B — Water soluble
D) Vitamin 'DY — Water soluble .
31, Oy of s&podl syenobgsier G b
A)  suisl usd Bl @supdlsn suglugg
C) epeovendler sgiusd D) eullppl usd.
Pituftary gland is situated in
Al  the neck B) the base of the heart
C)  the base of the brain D) the abdomen .
32. @issdibe faly fppilmen g CarRadlang
A) erfGuorgGenrllsn B) ecudler
C) earmorg@emmysfien D) enwGurgEenmile.
Red colour to the bloed is given by
A) haemoglobin B) albumin
C)] gamma globulin D) myoglobin .
33. Quamsgptsrear Urdlud gamrdlsuhse Eeerra sl RUURSs0 LURHdEDE
A)  UGprGlgeiy Cymen B) esugBrr&igein
C) QLevGLmevermsn D) G revenmer.
Sexual characters in female are controlled by
Al Progesterone B) Estrogen
C) Testosterone ' D) Aldosterone .
x
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34. s seuylillou garag GG CuiCprlrmBighe paan (&) UG peiaw
s epi_W) Seul| Geleughel Guw
A) .@:_hsmmﬂuqﬁmq seoli B) Jdbsedy
Cl  Gengemend smely D)  @yrenl usdmy seodly.
A cross between hybrid and either of any parent ( dominant or recessive) is
called
Al Monohybrid cross Bl  Back cross
C) Tesl cross D)  Dihybrid cross .
35.  w(meuld eps GULsor it seh Gimermes Spafenpnt sef
Al Gen@ (pes s b allbg smankga
Bl  om alalenu Ggand allbgtmel smeunhEHo0
Cl GO eoabn WioL @rad Serreu@urBurma Hereyul L Jipg
BAEEAGE
D) @radaf gpleLsmsn Grand Qi dmel SmauT HEHH,
Identical twins are produced when
A) one sperm |s fertilized with two eggs
B) . one egg s fertilized with two sperms )
€]  one fertllized egg is divided into two blastomers and separated
D)  two eggs are fertilized with two sperms,
96,  wegiadd gCrnCorCarbasiis aatnelsme 47 36 sraoiU@h Gurg
(224 + XXY] @ps Grmi( fan Gynid) ghLBfleng. :
Al  Glenenev slem Gpmb B deerer GQuénidn HenGymid
Q) Lienien SlenGori Dl e Geut Seir Gymis. '
I human 47 number of chromosomes ( 22A + XXY) is resulted in
4)  Dowm's syﬁdrome B] Klinefelter's syndrome
C}  Turner's syndrome D) Edward's syndrome .
37. opios Jobg 15 pris@eSs 6bD Grriussbiy veba( Caubelldr) Cier@aniiL
Ceusdm (i ?
A) O Gum el G B 1gSl=(DPT)
C)  eb.eab.t SEOY wibhe D) Efasv 50 WHES.
«[701] [ Turn over
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Which vaccine should be given (o the newborn within 15 days of birth ?
Al ‘0" Palio B] DPT
C)  MMR vaccine D)  Measles vaccine .

uigwe I o ulgwé I e L& Curesdl, £6yp Clar@satuGeror @RSGamers
Ganesn® sflumer aflen_emug BaihGls®

UCgwes I U we I
a) A B O @BIrgp cusnsser 1. mtu det mrr[f;mg'a;ﬁrgh@ D_RHiTIT G
b)  safleér pane auOghens 2. @il usy sely

c) adlt yfleunet Corena Gprl 8. Udsal (6 seldser

d)  gevefléams afldl 4. ure g Guardles derser
GO R s
a b c d
A\ 4 a3 ‘o2 ]
Bl 83 4 1 g
cl 2 1 4 3

D) 1 2 3 4.

Match List I with List II correctly and select your answer using the codes given

‘below :
List 1 List 11

a) A .B.,O blood group 1. Example for point mutation
b}  Bald head in man 2. Dihybrid cross
c) Sickle cell anaemia 3. Multiple alleles
d)  Independent assortment 4. Sexinfluenced genes
Codes :

a b d
A) 4 3 1
B)] 3 4 1 2
C) 2 1 -+ 3
D) 1 2 3 4,

Dream Dare Win
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39, dpseanr arsdlutmearst soued)
i) ADH erébtugl- sy Genin evppliBur enuélelle Qe sradlemsg.
i)  ADH eretug @eusing s dlellmba arddamsy.
i)  ADH eéug fuCrreantCuraufeds @eis srédapg.
iv) ADH eéiug Jaflue srudide @mhe arsdlames
FBYp GHLI Geien GPflgd sflurer o ous Catidad :
A) (# g (i) 8 Nurereney Bl (i) wl@b sPurerg
C) (it wi @b sPurerg D) (@, (i) whpid (i) sHwrereney,
Consider the following statements :
i) ADI1 1s seereted by adenohypophysis
i) ADH is secreted by infundibulum
i) ADH is secreted by neurchypophysis
ivl  ADH is secreted by pineal gland
of the statements ;
A) {i) and {i{) are correct B) (ii) alone 1s correct
C) (i) alone is correct D) (i), {ii) and (ili) are correct .
40. #péeen aurddlutmens &eouedl
el (A): elpméCee  siman FpbSLILIE S d 2168y Ganbenen
Gl o (Beiian gy.
emyeerd (R) @ Gadng fGurarars alhssCledadla aamahamale wpé&dlu ulig
cudlsdlang .
Sl GPIL Rerer @Hli ud sflurer afen_eus CatpOs@
4} Awvppd (R Granid gag -
B}  {A)efl gyemé (R) geumy
Cl (Alvbobd (R Grean@i a0 Goayb (R) sflurer armyamoreid
D) (Aueppl B Gren@b sfl sams (R) sflurer aryemnbléames,
Consider the following statements ;
Assertion (A} : The sperm contains centriole in the neck.
Reason (R) : Centrioles are important for sperm count.
Now select your answer according to the coding scheme given below :
A Both {4) and (R} are false
B) {A} 1s true, but (R} is false
C) Both (A} and (R} are true and (R) is the correct reason
D) Both (A) and (R) are true,but () is not the correct reason .

x | Turn over
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Gedurele slanCaef sflaive gomusd mowlh Srbilsstupen Geeoré
Gaqmid 7
Al Ggpmbl J. urur B) V.smgouml

C) C.V. @nmoss Dl 5. 5 uwsnst .
Credit for starting Space Science Research in India goes to

A) Homi J. Ehaba B V. Sarabhal

C) C.V.Raman D) S.S. Bhatnagar .

42. dipsseioe eun sdluhimener seuad) -

apd) (A 1 @pPurals Sphs s@ulss aligerel aduar srdien LIWEEsT i
Gols olanGeue ggmusdlaamio, Lalldier srppl inatiar_ eugh ghlc
menphe Cluraps afibgealilog.

amyeomih (R) : ellamGleusd] %ﬁnm&ﬂmﬁ;ﬁlﬁ apsdigyeier Shiamen cpig

urgdlhaiu’ Gaill L g.

d8p P Getrer @RS gé sflurer allenenwug CartRsd :

A) (A) wppid  (R) eflwrenenauwsie

B) (A) sflwreng. (R) aflurengdss

C) (A wppd (R sfurerena wibgi (R) aflure alleThmom@in

D) (A) oppid (R} sflurereane, yeimea (R) aflumen sllenéamunie.

Consider the following statements !

Assertion (A): The space shuttic in which Kalpana Chawla, the Indlan born
American Sclentist travelled, when reentered into the Earth
Atmosphere was burnt,

Reason (R) : The space shuttle had the nose cap (made of ceramics)
damaged.

Now select the correct answer according to the coding scheme given below :

Al {A) and (R} are not correct

B]  [(A)is correct, but {R)!s not correct

Cl] (Aland (R}are correct, and (R is the correct explanation

D] (Al and (Rjare correct, but (R] is not the correct explanation.

fpascm_mpyer agrefiude?

QUL Gyrey & SLEEADTRN HRlLGT '

A) ey Cearasl Bésordipg

B} eahplup Gpé Subu@dng

C) stéseny soe Osrlinés L Eafins

D) selu e sLELUBERSIDE.
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Which of the following is not correct ?
Mixing of alecohol with petrol
A) saves foreign exchange
Bl is ecofriendly
)  supporls sugar industry

1))  prevents the possibility of adulteration.

44. dpsacm_cuppst ahp BB yCreflud Qeflauisass Cerityalug ?
Al By, L B) @evGre
C)  wgmen D) QgenQanflur.
Uranium enrichment is concerned-with
A) Cuba B)  Israe!
) Iran D) South Korea.
45. yppiGumi edlitiy Gewddpa 2w STaimb
A)  dgan B)  Qmlgedlimib
C) Casy D) pmkems.
The plant which possesses 'anticancerous aclvity s
A)  Seetha B] Polyalthia
C) Teak D)  Murungai.
46, ‘sErt 2 pusdifie uwuaTLRSSIUED S ‘SsnT
A)  arfremeuid Bl #yefaCafiur
C)  eufiBarflun D}  smeutur.
The marine algae commercially exploited for the production of 'agar' 1s
Al Sargassum B) Gracilada
C) Laminaria D) Caulerpa.
47. @hdurale e’ &v sl senflgssiu @ sfleldsiuie axp b
Al 1932 B) 1986
C) 1990 D) 1992.
In India ATDS was first reported in
A) 1932 Bl 1986
C) 1980 D] 1992.
x[701] [ Turn over
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48, s uliflwes  dlyeeort ser Geulleunrm oy e @n g;i)sm S-mar  @\bs mreTTs
Cleram_rGdlement.

Al 2 w6 B pred Bl 2 eosshps @ipa prer

Cl e os sarsry dlpeue T el D) 2 w6 whaet CQarans mref,
Biologists celebrate every year 5th June as

Al World Water Day Bl  World Environment Day
€} W.H.O. Day D) World Population Day.

49, Uleraumd UL sl TG wremengel, prdismel, Bl mtis st i Flusupenn @hsdng 2

Which of the following diagrams correctly represents elephants, dogs and

A)

C)

S ©

animals?

Al

CJ @ D]

Dream Dare Win
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50. a=bX,b=cY c=a”eaafle xyz & ndly eeer >
A) 1 Bl 0
c -1 D)  Glemeu emaybleiane.
Ha=bX, b=clY c=aZ then xyzis equal to
A Bl 0
C -1 D) Nene of Lhese.
81, adGurg srull® Bosuargdlen s Glurc 6 oufsrd
A) 5{,1;9& {ol@wieum smit
Bl @bdlu Medes cubidlllen genesm 3wt
C)  Gurgbsridi® spssdle saeeant
D) m.euirig.e aller geveveut.
The Controller of Insurance Is at present
A)  Finance Secretary Bl Deputy Governor, R
C)  Chairman, GIC D] Chairman, IRDA.
52, spGurm mrigen Guris o husdldldr sierald wgHu whnb wrfle oirdes
Qe aellariimeilsn #salldlps ey o
Al H% 13] 17%
C) 24% D)  G0%.
Al present the expenditure on Government (both Central and State) as a
percentage of GDP is
Al 5% Bj 17%
C] 24% D} 30%.
53. @idurele sicir CLak dply aflflan (2001 - b sicr® Lsref afleuriig. ) eiug
2 eilamg ?
Al 935 B) 929
C) 833 ] - 830
The sex ratio of India as per 2001 Census was
A) 935 B] 929
C) 933 D} 930
¥ @ [ Tum aver
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@ppeosiida @piy eflflsb Gopans s siel wriflesd eTgl ?

A sflper® | B) Lﬁﬁgdﬂgﬁg&ﬁ
C) Gagenm D) wadluidy@ssin.
The state which has the lowest record of Infant Mortality Rale is
A) Tamil Nadu B) Uitar Pracdesh

C) Kerala D) Madhya Pradesh .
___________ ereftuRt @)he &ww Heneoeu

Al alGeusrenhaht Bl sugradlgyt

C)  eurénddl D} srgrum.

_________ was Hindu religious leader.

A) Vivekananda B) Varahamitra

C) Valmiki D) Tarabal.

steuBas oflé syan@ ag 7

A 2001 B) 2003

C) 2004 | D) 2005,

Which is the International Year of Rice ?

Al 2001 Bl 2003

C) 2004 D) 2005.

@hal LsPfsamedar lpeven

Al ere. sullpwesiiu gwi B) adugrflyas puhart
C) edv. sgdu qpisdl D g Ganrseue.
The founder of the Newspaper . The Hindu' was

A S. Subramania lyer B) Kasturl Ranga lyengar
C] S. Satyamurty D) T. K. Madhavan.

pbrmuilu spasdlée = erer Sereumd prissila g wepr uamhETer (pempEn
ghné Barereraildssmen 3

A)  dgrens B) @Grdlarha(U.K)

C)  Ggiwed D) G,

Which of the lollowing countries of the European Union has not adopted the
single currency Euro ?

Al France B) U.K.

C)  Germany Nl Spain.

x[701]
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" Big Egos, Small Men " areéip LUssssems stapslueut wrt 2

Al mydlbwyrel B}  prid Gogwenradl
C) Genell Garyig Dl g.aedn. Gead .
Who has written the beook " Big Egos, Small Men " ?
Al Narasimha Rao Bj Ram Jethmalani
C)  Soli Sorabjee D) T.N. Seshan .
60. 93 - augl fuessniy Fosen allsun g
A) wihdhfl #emudlesr sjemey
B) &0 pdHBULLL Ut SEhe T e pefl. g enamub
C) @ PhemE b b en a1 L rudssdal
D) ewiredasiilie G Ges80 .
93 rd Constitutional Amendment deals with
A} size of the ministry
B)  separate commission for SC
C)  compulsory education for the children
D) reservation in higher education .
61. WTO eép @nssadne Jeamuaapdle og sfiurar allfleursen 2
A 2 evs gend Bloyeuerid Bl o os autdss Hineuerd
C) zes Qurplursieaw Hlnsuen D) eas Qursgarss Hpeetb,
What is the correct expansion of the abbreviation of WTO 7
A) World Textile Organisation B) World Trade Organisation
C]  World Trusteeship Organisation D}  World Transport Organisation.
682, she arasbld Burg wadlu gopapsusel aETLE
1 erGeufluligens
i)  mEwT
iiij efl&EaCLR
iv)”  &urLuTD.
vl
A) (), ().0ppb (iv) Bl (.(5.opni (i)
Q) (i) obpis (v) D) (1) bLED .
% [ Turmn over
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64,

65.

22
The important parts during the Sangam Age were ?
i) Kaveripattinam
ii) Madurai
iii) Arikamedu

ivi Kapatapuram

v} Musiri
of these
A) (). and (iv) B)  (i).(H) and (1)
C)  (i).(111) and (v) D) (i) only .

shHCuregy whaanaullidr Curds o nlslatsetlan ool dams
A) 545 o pnilentaeh B) 555 pudlenteser
C) 565 e pudlentaeh D) 575 & puufentmer
Al present the maximum strength of Lok Sabha is

A) 545 members B) 555 members
C) 565 members D} B75 members .
weflg o flanwssh g sapeflssiu@as

A)  glge 10D Gad B] grar 100 Gad
C) Gelcbut 100 sl D) webut 100 Gadl .
Human Rights Day is observed on

A} April 10th B) June 10th

C) September 10th D) December 10th

EBp 2 e arpa Gls8l6 SN B Aa shiswwrdlapear 2

Al Qeareme B] Eur&osiaugh
C) sarellumgof D) anésésy .

In which of the following places three oceans merge together ?
A) Chennai B] Rameshwaram
C) © Kannivakumari D) Tuticorin .

x 701
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66. ulgue I o ulgue Mo e Qurmsdl, affﬁga Qerfsalul Gerer @nluiTRsanens
Raren( sflurer el ows CaibCs@
uCigue I Ut gwes I
a) g senns s sngenusst Clpmfibsrana 1) &eLrdasih
b)  @prgme eupmiddl enowib 2) Clume it
¢ @pdu aurdrruetl guymidd flemeowin 3) AL
d  sigmesd 4) SO EUN ST ITLIT &
G Heer
a b c d
A) 3 1 2
B) 3 4 1 2
c 2 3 4 1
) 3 4 2 1.
Match List I with List II correctly and select your answer using the codes diven
below :
List I List II
a) Bharat Heavy Electricals 1. Kalpakkam
b) Defence Research Laboratory 2. Bangalore
cl Indian Space Research Organisation 3. Trichy
d)  Atmoic Power Plant 4. Hyderabad.
Codes :
a b c d
Al 4 3 1 2
B) 3 4 1 2
c) 2 E! 1
D) 3 4 2 1.
67. spsaLappe’ oy sréasewls Bdoma 7
Al @erusr Gigriflherene Bl =g& Qgmplherena
C)  sigmbler Hevews D} semaller flaewub.
Which of the following is not sttuated in Tuticorin ?
A) Chemical industry B]  Fertilizer industry
C)  Nuclear power station D) Thermal power station.
% [ Turn over
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68. GiplGeuslyLer Qe fuhng sa7

Al dlevskafl B) L;rﬁs&rsrrmb
C) uuly fledsaf D) wflur
Which of the following is not related to Neyvelj ?

Al Coal B)  Electricity
C)  Lignite D) Urea.

69, ulguwé I g ulgue Mo e QurErpsdl, HGyp QarHésiucGerer @MulE ssmers
Qaran@ eflurar allan g CatbOsE :

LCigwes X uiguee IX

a) EUIT e (017 (h . sy Gaamodans
b) &mGaus i 2.  usngame Ggaseudnns
c) @ 10171 3. ef@urrear Gaenaubans
d  G@rlgelts wmb 4, slgL Coomeudens
@PliHech :

a b c d
A) 3 1 2 4
B) 1 3 2 1
C 2 3 < 1
D) 1 2 3 4.
Match List I with List IT correctly and select your answer using the codes given
below :

List I List II

aj Banana tree 1. Omamental purpose
bj Acacia tree 2. Festival purpose
c) Teak tree 3. TFuel purpnse
dj Polyalthia tree 4. Timber purpose.
Codes :

a b c d
Ay 3 1 2 1
B] 4 3 2 1
C] 2 3 4 1
D) 1 p 3 q.

«[701]
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70. &flpETigé "bEnes sroroe” Oty ddémsse urrbufly apenpuilév
LLETURSS0ILIGD B G STaTD '
A) it (07D B) <&
C)  Gaulby D & Lpfr @pevedl.
Traditional medicinal plant used for the (reatment ol 'Jaundice' in Tamil Nadu
is
A) Mango B} Arasu
)  Vembu Dl Keelanalli.
71, uesreoLw sflp GCerlenaw shflllmbs <o flasle ahpooms afleuiidhlqor b
LTS e alleOuc L g ?
Al Ssb B) ued
C) @il D) apEen.
What were the animals found in the most of the ancient forts for proicction ?
A)  Lion B) Tiger
C) Horse D)  Crocodile.
72, sllpesdea abhg pra L &6& srenpeL LHHEOI L GmesapaD syemnhgleergl
A) LD e ] B) Gamublsgrt
C)  dlpadl D) Gaenenan,
Where is the Veterinary University in Tamil Nadu located 7
A Maduratl B) Coimbatore
C)  Trichy D) Chennal.
73. ugblisgenh LD .. e L Sdld 2 ehena.
A Gufwmy Bl Gsmubysgmt
Cl eem'ig D) i,
Parambikulam project is located In .....ece district .
A) Periyar ' B] Coimbatore
] Ooty D) Karur.
74, GTEESGE ... 5@ Ordsdl CuDps
Al duls 275 Qgrfiberese B) @umiby sTou 46
C)  spflelud Qgmfipsras D) @uidlns smel siemesst .
Tuticorin is famous for
Al Spic Fertilizer Industry B) Iron and Steel Industry
C) Aluminmium Industry D)  Machine Tool Industry.
% |701] | Turn over
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75. Camge Speyemren sbloysn Hluipeid Getpy eamg alerfliushars
Al sfipssdle mrdls seand '
B)  Gemubysgni @esoRbleug o
Q) wiflipesdla sallpmoella @pilomamy JTTLLLDS
D) @ee agafldame.
Gokula Krishnan Commission was appointed to probe Into
A) caste clashes in Tamil Nadu
B) coimbatore blast
C)  study the Dalit's situation in ‘Tamil Nadu
D) none of these.
76.  unys pher efpeng Clubn (ppe sllps pgpeennd st
A) C.N. spyeroremm gs(] B) M.G. groéshdlyer
) C.grgGsrureraant D)  ubgeudsel,
The first Tamil Nadu Chief Minister to be awarded Bharat Ratna Is

A) C.N. Annadural B) M.G. Ramachandran
C) C. Rajagopalachari D) Baktavatchalam.
77.  sbpemiigen @uarTT FIiLh . wra L sé o steng.
A) (EreulD B) Gwflurf
C)  pedld D) seflurgofl.
The Pykara Scheme of Tamil Nadu 18 in ... district.
A)  Salem B] Periyar
C)  Nilgiri D) Kanniyakumari.

78. ap sblp Gadluaurd ureurrd aarp Gesdu sgefiaaou GleusfiflC Lmit.

A)  sdhmosetilu vyl B} sUqoewtu et
Cl ez # D) eflelledu. gui.
Which Tamil nationalist published a literary ma.\gazlne called "Bala Bharathi" ?
ﬁ]. Subramanya Bharal B) Subramanya Siva
Q) V.0.C. D] V.V.S.lyer.
«[701]
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79. uvlnguée I & ulgue Haodé GQurgsdl, Gy G‘mr@&em i Refren @hliRaemers
Qlameem () aflurer alleseenwd Catiablad :

uliguwes I uligwes 11

a) ulgeTuurSsD 1. &ranen Gry meml
b)  wmeyturssn 2. aflofio
¢l [renhiemy 3. uwree Gry s
d) . ecekizms 4, sLpsoTl Ugl
@i Hest

a b c d
A2 3 i 4
B) 2 4 1 3
) 3 1 2 4

D) 4 3 2 1.

Match List I with List II correctly and select your answer using the codes given
below :

List I ' List 11
The moming bazar

(==
"

a) Pattinapakkam

b) Maruvurpakkam 2. The resldental area
¢) - Nalangadi 3. The evening bazar
d) Allangadi 4. Coastal area with its harbour.
Codes ©
a b c d
A) 2 d 1 4
B 2 4 1 3
¢ 3 1 2 4

D) 4 3 2 1.
80. AwCrpeGaud bra L sGmélt god uryrd uRGsTame GElLLLLLTT 7

Al llelleey, gut Bl  eurgsdl st
C) eleen. faflars sreugif D) . falleurs sk,
Who assassinaled Ashe, the District Collector of Tirunelveli ?
A)  V.V.S Iver B)  Vanchi lyer
) V.S. Srinivasa Sastry | D) 5. Srinivasa lyengar.
5| 701 - | Turn over
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@) ot emesilen aiugs Apse Copsens Sigle LT Qaradmfeieng 1
A moryes Gounse B) sveurd Guuwone
C)  ugpsnl @olioene D) Grurst @uouwnane.
Which part of the Himalayas has the maximum stretch from east to west ?
Al Kumaun Himalayas B)  Assam Himalayas

C)  Punjab Himalayas D)  Nepal Himalayas.

B2, dipdmetor cut Bdluhsenen seued] ¢

83.

epl (A): Ry Syue Sy Qpeiseis vy Qe whe Gl SEndns.
srmremmd (R) @ Sifis wepl Gurflay, G ohfoea sigbué Qudgid sryed
&8y @ Geter @Bl gé aflurer olen_enug Sath@s@ :

A) (A) wppin (R) s, (R) ereiug (A) edpe sflwres silendawrGn.

B) (A oppd R efl. R aaug (A e sfluren allsrhabldeme.

Cl  (Aeh gyemd (R saig).

D) (Algap syeme (R)aifl,

Consider the following statements :

Assertion (A} :  Solls in humid tropical reglons lack humus,

Reason (R} : Heavy precipitation causes leaching of humus.

Now select your answer from the coding scheme given below !

Al Both (4) and (R) are true and (R} is the correct explanation of (A)

Bl Both (A) and (R} are true, but (R} is not the correct explanation of (A)
C} (A)is true, but (R} is false

B]] (A} is false, but (R}is true.

sréurTalpsh  apdu peedteh @ Cu pBL Sipi 8 1

Al Ganameuf] B &sams

¢ pud : D) mELET.

Which of the following river flows between the Satpuras and the Vindhyas ?
A)  Godavari Bl Gandak

C) Taptl Bl Narmada:
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84, Qmitweldgh Curatssed oGy 2 der ahamablar®
Al el ssuid Gar( B wrdpn Car@
C) gureml Gard D) LTouE Gemess Garr(.
The boundary between Germany and Poland is called
A} Hindeberg Line B}  Maginot Line
C) Durand Line D) 17t Pagallel,
85. eEbgrurd penb eunbgeter ndl ...
A)  auting B) wsnimdl
Cl  ahGmridl D)  srGaufl.
Ahmedabad town Is located on the river
A)  Sabarmal B) Mahanadi
C) Gangotri D) Kaverl,
86. 'NIFE ednp Lsb @Bloug
A) el oyflirsd) Bl  uellfsr oarsemmliy
C)  uelfier BuGen® D) & hubens.
The term 'NIFE’ refers to
A) Earthquakes B)  Core of the earth
) Crustl of the earth ) Ocean floor.
87. @kdlu sLpsendsn perid
Al 7516.6 &l Bl 7500.5 £l
C] 7000 &8 DI 6100 Fl4.
The length of India’s coast line is about
Al 7516.6 km Bl 7500.5 km
C) 7000 km D] Bl00Ckm.
88, g@bsiulL srisel aanrd adae 1
4)  Guissguabmar gasslulL HTES
B) GaleLur@ushblss sassiul ar@sen
C) Cuoisseve alGss arafiu filurs 2 LBurdlés g@aslUlL sTHes
D)  weoeenp whsdfla uudLrLghOles GE&aUILLL STEHSHT,
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What is meant by ‘reserved forest' ?
Al Aforest reserved exclusively for grazing
B) A forest reserved for hunting
Cl A forest reserved for commercial exploitation with restrictions on grazing
D) - A forest reserved for the use of tribal people.
89.  Lnéelldly eyq v b wrfledsamen gpeaflosld s@ovsead (2001)

1) @iflygn 2) o gdlyrghad
8)  Hadn 4  Gurmevsrer.
@Pipsst :
A) 3 2 4 1
B) 1 3 2 1
c) 2 1 3 4

- D} 3 1 2 4,
Arrange the states tn ascending order in terms of sex ratio (2001) :
1) Tripura 2) Uttaranchal
3)  Sikkim 4]  Rajasthan.
Codes :
Al o 2 4 1
B 1 3 2 4
C) 2 1 3 3
D)y 3 1 2 4.

90.  upidlener gl uras Qaran( QarfésiuL wriflehsame Gohe aflasde
2yenib&HE&eD

1) eyhdydpCgain

2)  egms

3) St

4) S{EVeTiD.

GHISHeen :

Al 1 2 3 4
B 2 3 1 4
C) 2 4 3
0] 1 3 2 4.
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Arrange the following states in descending order on the basis of area :

1)  Andhra Pradesh
2)  Gujarat

3) Bihar

4) Assam.

Codes :

A 1 2 3 4 !
Bl 2 3 1 4

Q) 2 4 1 3

D) 1 3 2 4,

01, ulyuwéd I g uiguée Mo e Quresd, G Qer@smiul Gere AL T g
Geran® sfluren alleLeoup Carbis® :

utgwes I UL igwes IT

a) Gl 1) are flener cusmeslum(
b)  sntenEGeull 2) flysssdern
c) @uﬂi_uq.w@sm 3) uyalflen Carpph
d Quhs 4) alleueny susmslLmE
@:ﬁ]ﬂ?@&;ﬁﬁ t

a b c d
A) 3 1 4 2
B) 1 2 3 1
C) 2 3 “+ 1
D) 4 1 2 3.
Match List I with List II correctly and select your answer using the codes given
below :

List I List IT

a) Kant 1). climatic classification
b]  Thornthwaite 2) cycle of erosion
¢l  Whittlesey 3] origin of the earth
d) Penck 4) agricultural typology.
Codes :

a b c d
A 3 1 4 2
B 1 2 3 4
C) 2 3 4 1
D) 4 1 2 3
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92. dphseanL arbdluisee soefl

o pdl (A): Cplee wppbd sreel Gleme ﬁwm@mfmaﬂhﬂ weneulley
lemendlpa.
srgeond (R): @6 uliteer aleapguéet glralporea sryadasr
CaeomaluiBding .

&8y P Getrer efifne efiurar alaLowup Caibolsd :

4)  (Awdpd (R)efl.

B) (A) wpps R efl. (R) edug (A) afipg sflurer alarsadldanes,
C) (A el sieme (R} geuy.

D) (A goup e (R) &l

Consider the following statements :

Assertion (A) : Tea and coffee are both grown in the Nilgirl hills.
Rea.-mrt fR): Both crops need similar condition for growth.

Now select your answer according to the coding scheme given below :
Al fA) and (R} are True. L
B) Both (4) and (R) are true, but (R is not the correct explanation of (A)
C)  (A)is true, but (R} 1s false

D) {A) 1s fal=se, but (R) is true,

93. eaps Caflu OpRGeToe SéTTEanDd heumwuyb Gamembeips.
A) NH 1 B)] NH7Y
¢) NH3 D] NHS5.
Which National Highway connects Agra and Mumbal ?
A} NH 1 B} - NH7
G NH 3 D} NHS5,

94. sieuCge Lgliudla Qaram m LuEb Bret
Al =Gt 8 B) Gel but 8
C) syl 8 D} wsbui 8.
International Literacy Day is celebrated on
A)  October 8 B} September 8
C) Augusi8 D)  December 8.
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9%5.  @EhSureler lalopenowrer erci Glesmil & & Hlafliumans

Al DT B0l LT B) d&umi
C)  unekedfl D] Qréflen.
The oldest oil refinery of India is
A) Haldia B] Digboi
C) Barauni D) Cochin.
96. Qacrenanile oL urtsens o pardduntae gl Carayb LHQID -
A BTENHITL B] s&ub
) Gumresrley Dl g.#lereu .
Tidal Park in Chennal was formed by TIDCO and
A) Eleot B) Sathyam
C)  Polaris D) TCS.
97. Gpaf) wrai. b gy wralLpdldleha Al sume b
A) 1996 B) 1997
C) 19498 D) 1999,
Theni district was bifurcated from Madural on
Al 1996 B) 1997
C) 1998 D) 1999.

98, ulgué I g ulgue Maid QUIGEHE £3p Gar@ssiulBsier GRldGsmend
Qereas® efure efloLowus Catbbis® :

U igwe I ugués IX

ST ool TRILID omaui b
a) Goulhamhed 1) sgemer
bh)  sersan( 2) fedlfl
¢ (wEEtEdl 3) ﬁ@-@[ﬁéﬁmaﬁ‘i
d]  culpeyf 4)  srgfyib
eBi@eer

a b d
A 4 2 3 1
Bl 4 3 | 2
C) 2 3 1 4
ST R A
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Match List I with List IT correctly and select your answer using the codes given

below :
List I List IT
Sanctuaries Districts
a) Vedanthangal 1]  Tanjore
b) Kalakadu 2] Nilgiri
¢l Mukurthi 3l  Tirunelvell
d) Vadur 4} Kancheepuram
Codes :
a b c d
Al -+ g ! 1
B) 4 3 | 2
C] 2 : 1 d
2 2 2 1 4
99, gdlppmiige srwyfl wralcb @abe GuurGiubng.
Al el mement B) @euntleu
C) scimenmiby e D) Eiehy gra-
Dharmapuri district is known for ......... in Tamil Nadu .
A Granite B) Cuartz
) Limestone D) Ilron ore.

100. sblprrge Qe Ghgiu oy sevburt® eaiufeug ag ?

M) Soeub _ Bl sereflumgiof
C) ErpCpaGos D) gramfEe.
Which is the South Indian Oxford of Tamil Nadu ?
A) Salem B)  Kanniyakumari
) Tirunelveli D)  Tuticorin.
101, assrh wenn wurgre SfieesiufsaiulLg ?
A) LSl Bl oGus
C) GG D) smrager déag.
The igladari system was introduced by
A) Balban B) Albek
C) litutmish D)  Alauddin Khilji.
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102. Sereumeuameupmiel og eflure Qurephasaiideans 2
A)  mem shamelb —  miemman Gemiflherane
B) uepw shereubd —  diflyd curpsans
C) ydflu sherer — ey wrpsas
D) Gaibyssenel —  zooey 2pusdl dleve.
WI'Ih.".h of the following is wrongly matched ?
) Mesolithic period —  Microlithic industry
B)  Paleolithic p-v.ricid —  Wandering life
C)  Neolithic period —  Settled life
D)  Chalcolithie period —  Food producing stage,
103. denreumeusmeuppeh ag swem sousdla “ppan G adlamssila” e eram_mdug
[@leuemen 7
_ A)  Bleombs sy B)  dlurerd
C) mp@swea D alfaoe .
Which one ol the following does nol belong Lo the 'Three Ratnas' of Jainism ?
Al Full Knowledge E} Meditation
] Good action )] Liberation.
104, Seraugpueiiseflés wrt ppdin an’ L Guoes wiptBesile sabs Cerabisuf 7
A) O sy, GG
B) 6D, &r(D. omemediui.
Cl  ab. Ga. skl
D) &l sreiy, dedlleums smevdgif] |
Who of the [ollowing attended all the three Round Table Conferences ?
Al B.R. Ambedkar B) M.M. Malaviya
; C) M.K. Gandhi ) V.5. Srinivasa Sasirl.
x| 701] | Turn over
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105, smbar gellubse ahs sossm alamsedpg 2
Al @l momwussib B) wsrurgsibh
C)  ughsahdlio D)  @resr sasast .
Which stories were explained in Ajanta Paintings ?
A) Ramayana B) Mahabharata
C) Pancha Tantram D]  Jataka stories,
106. @bgluraihe gGrriutaeilea apaaamu sflura weonds aiflmeiu@ssan |
A)  Gurrdsddlut, Lssdeargt, uidGeurt, N0 ehesayi
B)  céadengt, giadGeuut, Guriéaddlut, OCreassryt
0 andlCawt, Lssdargt, IQrehasamyt, Gurtdaddut
D) SGperaseryt, Gurtéadflut, sybdlCauwt, _ésdargt .
Identify the correct order in which Europeans came to India.
A) Portuguese, Dutch, English, French
B)  Duich. English, Portuguese, French
C)  English, Dutch, French, Portuguese
D)  French, Portuguese, English, Dulch.

107, ulgué I @ vligue M2 dr Quresd, £8p Qar@éstul@srer GPliRamers
QEredn® sflurss oflem cowd Caibbla®

uCigué I uligwes II
(iv@mmwmeartseflar Len Lay) (OlgrL fuyen._wig)
a) erastoycmLrtisar 1} @Eespuger
b) eumshyshlig & 21 QeErr&Esh
c) G&aauTdl allyen 3 puEsd
d)  srghs aflysr 4] yedrsl ks Glol GumEefiud
@HlHeEsT :
a b c
M) 2 1 3 4
B} -3 4 2 1
C) 3 1 4 2
R} 4 3 2 1.
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Match List I with List II correctly and select your answer using the codes given

below :
List I List IT

Works of Mahayana Dealing With
a) Sadharmapundarika 1]  divine grace
b) Vajrachedika 2]}  heaven
¢)  Sukhavat vyuha 3)  conduct
d) Haranda vyuha 4] metaphysics
Codes :

a b c d
A 2 1 3
H) 3 1 2 1
C) 3 1 4 2

) 4 3 2 1.

108. dipamain aurhdlumsamer seue
giewfly (A): ypgewowbd sior Carlur’ e ghné Gerereanidane.
argeeond (R) : Lpgsswwb Hirkgy sieémoraea gpns Garsraaiaama,
B8 @il Gerer @il sflurear alloous GarEGEE :
Al (A) wpgid (R sfl. (R esiug (A) ellhe sflurer aflerdaib
Bl (A)whnb (Rsfl. (R adus A dbhe sflurer allardablaame
Cl) (Al afl yemey (R) geug.
D) (Al seugy e (R) &l
Consider the lollowing statements :
Assertion (A) : Buddhism does not accept the theory of Karma.
Reason (R) : It does not accept the existence of permanent self.
Now seleci your answer according to the coding scheme given below :
A) Both {A) and (R) are true and (R) is the correct explanation of (A)
Bl  Both (A) and (R) are true, but (R) is not the correct explanation of (A)
C) {A} is true, but (R} is false

D) (A} is false, but (R} is true.
%701 | Turn over
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109. sweriburs sflédlyges aapdlusut
A) Geugprush Ulerenen Bl sl &l
C) pgrobd spbwrt D}  #lsusdusnf].
Kamalambal Charltram was written by
A)  Vedanayakam Pillai B) Lakshmi
C) Rajam lyer D) Sivashankari.
110. weGuaenaeny eagdlumnit

A GamrésminSut Bl &St
C)  @enhGomaigsel D)  dapsenen srigeomt .
Manimekalai was written by
A)  Tolkapplyar B) Kabilar
€C)  Elangoadigal . D)  Sittalal Sattanar.
111. @yedm i @Cenggibhis Compefien whGprm Cluwt
A) sl Garas. Cempen B] adsb galtds Camper
C)  dimdbl s Ganpen D) gphops Caratn. Garpe,

Kulothunga Il was also called

A)  Gangaikonda Chola B)  Sungam Thavirtha Chola

) Erimikanta Chola D)  Mummudi konda Chola.
112. denaumeusaupPles eraensnl ubfl GueuCLrblu prafan sfihdlnsaaidana ?

Al Guren wppi Cleustefl B] Qsby

C) Gleuskmacb Dl EGoy.

Which one of the following is not known to Mesopotamian civilization 7

Al Gold and Sliver B) Copper

C) Bronze D)  Irom.

1138. #lig swCloue prafaidlsan nl sadrash

A) FTBUGS L. e Ser

Bl  smiy suetmesih WHw Saly w saese
C) e @hflu ueTUETILITET SHLUY WL seuaTsa
D) &y - ey Bip wlaeeTse.
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The pottery of Indus Valley Civilization is )
A) Grey ware Bl Black on red ware
C) Northern black polished ware D) Black and red ware.

114, paselgrer surpdag Corppeaisgeanr wurt 2
A Celaundly mrp Bl mafer spdlym gml
C) Goad spdlgrQaan D) Oedl. wg@bgmnt
Who was the founder of Navavidhan Samaj ?
A) Devendra Nath B) Navin Chandra Ral
C) Keshav Chandra Sen D} P.C. Majumdar .
115. gpger syapeurgmislilen Guisgent wrf ?
A) (pememeult . e e B sGlevdenredn i sebreniihigmn b
C) Surgaen D) wrtegd .

Who was the first Director of Archaecology ?

A) Dr, Hultz B]  Alexander Cunningham
C) Fergusson D) Marshall .
116. @hdluralé @miban wsdiwpsenrs sflpeluBsduatsa
Al ey flwtae B] dlprell_iser
C) L& st el D) sBwHurssT |
Iron was first introduced in India by
A)  Aryans B) Dravidians
C) Persians D)  Sumerians.
117, 9 weiw urpregsoapsdipe CarpCsfssiul L wad Ghdut wurt 7
A)  grerumi CpenGymell B) 4l syt gren
Cl  Ldsiy.#l. urenied D) sgeuapiand Bues .
Who was the first Indian, elected for the British Parllament ?
A)  Dadabhal Naoraji BE] C.R.Das
C) W.C. Bonnerjee D)  Jawaharlal Nehru.
118. &g swGeuel prafad afld fplussdan 2 e LgTs Hremwriul LG 7
A mer FLLdiBed Bl &lgL sow
C) emaeilenan D) @eoa Senansgh .
x[701] | Turn over
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The Indus Valley Civilization was specialised in

A)  town planning B)  architecture
C) craltsmanship D)  all of these.
119. #ipg sweusl) wéoeT St QaraeiuL ohs GElanBad cueaat et ;e 7
A Ghdlyen B)  eumcone
C)  efleypeo D) @ee agepdldame.
Which God was worshipped by the Indus Valley people ?
A) Indra B) Varuna
C}) Vishnu B None of them.
120. fipg swbeuell whsel aH Qunsener @oé@od CalpTtHel 2
Al Gemgeon B) upge
C) Qeushefl D) flas
The Indis Valley people importec from abroad
M) wheat B) wine
C) silver 12 sillc.
121, o GG B B0GIUST DAEEES apgdlu 2 amey
A)  hé B Gsrgenwn
C) (Gemerd D) &by .
.......... was the primary food of the Indus Valley people.
A)  Rice Bl  Wheat
C) Corn D) Millets.
122, L sene hEsaapmsl Ll ek Cousddla saplu Betas ?
A)  Ms Geuglb B) smolausgh
C)  wget Geusb D} . et Gaush
The earliest mention of medicine occurs in which of the following Vedas 7
A)  Rigveda B) Samveda
C) Yajurveda D) Atharvaveda.
123. gyflpohss @ arpboadid HTES Blanams ahes ST FULGE6 BTG
suertFSluenbag 7
A  Gashegbe (phu sTed B M& Geus sred
C)  hdlu Geup smevd D) @eupnst agoubideme .
<701
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Ashrams or four stages of life came to be well established during which period 7
A) Pre - Vedic period Bl  Rigvedic period
C) Later - Vedic period D]  None of these.
124. & Geusgdles sraneu 2y midlyeteng 7
A)  ursphssiler Glgmgiy
B) &gl whpib Blepaseida Qgm@iy
C) ueGauy i Hasflar auflensurer Qgraiy
D) whdghss whobh sLdgsetidr Cpraliy .
What does the Rigveda contain ?
A)  Collection of prayers
B) Collection of storles and events
C)  Collection of a chronological sequence of dynasles
D)  Collection of magic rituals.
125, gpbaco ahs Henuriy dere sufiutsard ednllésiueailaame,

A)  ugpSlaugmesn B)  Apse s emalleusm e
Cl  ugherd D) Gube gdrilrCse .
' Which among the following geographical areas was not inhabited by the early
Aryans 7
. A)  Baluchistan B] Eastern Afghanislan
C)  Punjab D)  Fringes of Western Uttar Pradesh.
126. usasflear smpdlerug wafly aurnsgrss Sugluenl arFeh
Al Gamrulb B)] @éas
- C)  Glugeswn D) &yms .
The root cause for all sufferings of mankind according to the preaching of
Buddha is
A)  anger B) lust
C) pride D) desire.

127. fl& Geug sres whsaller suglien. FupeSamoiy g ?
A)  sml g glEs GHEODUD
Bl shos siflés @hbUD
Q) gt ol BHbUL Lhpb BheE AHES GOEUE
D) @ agnfidame .
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The basic social organisation of the Rigvedic people was
Al Matriarchal family
B]  Patriarchal family
()  Both Matriarchal and Patriarchal families
D) None of these.
128, s @eddub eagsiu’ c Guwm
A oeud B  a&dlp
Q] bl D} wenewmerd .

Sangam literature was written in

A)  Avadhi B) Tamil
C) Malthili D) Malayalam.
129, whlmorais dp' aaEip afigd LT e & bl
A Hmapet B)  @ymen sibLih T
C) oamesm il D) whemeutayHurd

"pMandiram Avathu Neeru" the song was writien by

A)  Thirumoolar B] Gnana Sambandar
C) Kannappar ) Mangayarkaraslyar.
130, Ubwnl indtatser Blaubnieh deng sagellenmiad ?
A) FEEDTLO LD Bl uss wsid
2] @ihe) e 5 )] gngal e,
The Pallava rulers believed in
Al Jainism B] Buddhism
C) Hinduism D) Shaivism,
131. Sereumeusreapia aenal eflurs GuTEhealldenss 1
A)  snwmen sumblLsEd — Art. 18
Bl ooty e dlesie — AL 19
Cl  empéms whid &3HET s flesme —  Art, 22
D} s ausg edgne 2 e — Art. 24
Which of the following is incorrectly matched 7
A) Equality of cr]:;ponunit}f — Art. 16
B) Right Lo associntion — Art.19
C) Right to protection of life and liberty —  Art. 22
D)  Right against exploftation — Art. 24.
x 701
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132, arpaoen (peon BBy sy flueeniy slLsdld e SiHEpUUCLg ?
Al §n oD B @m wop -
C)  psip (penp D) dlpssiu aldme .
How many times the preamble of the Constitution of india has been amended ?
Al Unce Bl Twice
C)  Thrice D)  Never.
133, ulgue I g utgud Mo Ld GurEpdl. Gy Glam@asnuc @ iR & e e &
Gnradn(® sflwren eflen e Cprpblad :
uligue I uligwe I1
a) @ emoiucell palesibuin &es 1] Geud@esnedl
b  @yooiueiurend Catipbs@sss  2) QoL #le s
¢ @ emintiuasiiureres LdHa 3)  mmyerauredlleny
d) @ el ausnmlLBEHEs - 4)  QussrGe
@Ol H e
a b c d
Al 2 1
B) 3 4 1 2
C) 4 3 2 1
D) 1 2 3 4
Match List I with List II correctly and select your answer using the codes given
below :
List I List II
al Modernisation of civil service 11 Wellesley
b) Recruitment of civil servants 2) Atckison
c) Training of civil servants 31 Cornwallis
d} Classification of civil service 4) Macaulay
Codes :
a b c d
A) 2 3 4 1
B) 3 4 1 2
C) & 3 2 |
Dy 1. 2 8 4,
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134.

136.

137.

=4
FLL D6 Seyedlelles L@JﬁlLﬁGﬁTﬁé‘ﬁﬂsﬁ? sanailéms apbe Sl GopUs s 7
A 50 " B) 25
C) 40 D) 30,
The strength of Legislative Council members shall not be less than
A 6O B) 25

C) 40 D) 30.

- @ihEu sy Hueenoty sl sdldr Qpmésy B pen GUDiLCLg

A) @pdlu syperdis s Lb, 1935 dimhe

B) USSR eSleflmba

C)  USA alellimhsi

D) Qgrws Gaulinh oygfluseniody sl bdelmiba.

The cmergency provisions of the Constitution of India was borrowed [rom
Al Government of India Act, 1935 B) USSR

C) USA . D)  Wetmar Constitution of Germany.

Elbslu snll Ll d g e

4A)  goldlanemhg sa L 4 Bl o clenwowres sl ml S
C) ugeuesr&sUUL L sl Lmlé D} GCuhsanL egabidae .
Indian Federalism is

A) centralised federation B}  pure federation

€C)  decentralised federation D) none of these.

UPSC a1 sy Gaiy uesflllss samd) e g 2
A} Gazrey Bl dluwearb
C) esnemetlssd D) vl wigsé .

The final work of UPSC in recruitment process is

A) selection B) appointment

C)  certification D]  placement.
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138. @npdlu  oyyéluasnnly sl adlé Sire suflar’ g Gpfloueon Carlurlsm
Getsmmea Brnhsh

Al wssamlél spsrissos e ndlu@sase

Bl pe 2poe S0ssw

C) pdlplsrfldr aurpéans grsas suldgss

D} evsllepurear wrfle spsrisgoms ghuRsgBe .

Directive Principles of State Policy were incorporated in the Constitution with a

view Lo
A). ensure Democralic Governunent
B) establish Welfare State
C) raise the living standard of weaker sections
I8} provide a strong State Government.
139, ugremus e sewiyset fiflésre sdlsn prgdisliug
A)  ooefreant auffl B] Qenrgg suf
C)  eyeris B D) éiply eufl .
Panchayal Ra| institutions depend for funds mainly on
A) Local taxes B) Property taxes
C)  Government finances D) Special taxes.

140. aps 2uad(h wass paers phlsasdidhar Froramn uryrepnemase Cleran@

GUTULILL 57
A) 1860 B] 1963
C) 1964 D)  19467.

In which year for the [irst time was no-confidence motion moved in the
Parliament ?

Al 1960 B) 19863
) 1964 ) 18967.
x | 701 | Turn over
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141. utgwe I ulgué ITe e G‘ru:r@ﬁgﬁ €3y Qar@ssiul Garer gRlGsamend:
G‘ta&rrﬂ:hrﬁ stlurer el ows CariCls

U igwes I U igwés IT
4l @Quys sevecuflar Hitans s@lamro 1) Article 56
b @uurs seveauflar ugalaresn 2) Article 55
c) Guwre ot Gatadh 3)  Article 61
d @Rure seent ugal B 4)  Article 53

B) Article 54

Gl Hset

a b c d
Al q I 5 )
) 3 2 I 5

Cl 4 1 2 3
D) 4 5 3 2.

Match List I with List II correctly and select your answer using the codes given
below ;

List I List 11

a) Executive authority of the President 1] Arlicle 56

b) Tenure of the President 2) Article 655
c) Election of the President 3] Article 61
d]  Impeachment of the President 4] Article 53
5] Article 54
Codes :
a b c d
A 4 1 5 3
B) 4 2 1 5
Cl 4 1 2 3
D} 4 5 3 2.
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142, Jeneupeversupenp afles dyovwrs Qsram® auTayb :

A) CBIl, ESMA, S5C, CAT B] ESMA, CBI, CAT, SS8C
C) CAT, 35C, ESMA. CBI D}  CBI, CAT, SSC. ESMA .
Arrange the following items in chronoclogical order ;

A) CBI, ESMA, SSC, CAT B) ESMA, CBI, CAT, S5C
C) CAT, SSC, ESMA, CBI D) CBI, CAT, SSC, ESMA ,

143, ulgwé I @ ulgue e Gumssd), #Qp GarfssiuBerer @Plibeamers
Qarem® sflurer efoLoug Carbead

uCgwe I uligwes 11

al  wpflu ulgue 1) eppalué slib wppd auyflopmn
b)  wrfle ulgwé 2)  urgsniy
¢ Gurg uligué 8] Qury aessd LHEID erad
@pliGae

a b c
A1 3
B) 2 ] 3
c] 2 o 1
D} 3 2 } :
Malch List I with List II correctly and select your answer using the codes given
below :

List I List O

aj Union List 1} Criminal law and procedure
b) State List 2) Defence
¢} - Concurrent List 3] Public order and police

Codes :

a c
Al 1 3
B 2 1 3
] - 2 1
Dy 3 2 1
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- 144, ydlu sdielle Carsians 10 + 2 + 3 ppepenu Sflypaiufédius.

A Oflgey @ndur B)  ardadlyey
C) dws D) =g.eduwe .
New Education Scheme 10 + 2 + 3 was introduced by
A) British India Bl  Congress
C) DMK D)  AIADMEK.

145. app @@ Clga @bdlu pe o flenn shisd ghuBSHILLL 8 2
A) 1914 B) 1915
C) 1916 D) 1917.
In which year was South Indian Liberal Federalion formed ?
A) 1914 Bj 1915
'c) 1916 D) 1917

146. 1974 -b @ ahg wrhle syerisd vrbe swurf Storersomg
Glan com Deudsg 7
A) sy eyt B Jdanf
C) 2 &8lpdyGasi D) sfper@. |
In the year 1974, which of the following Governments passed state autonomy
resolution ?
A) Jammu and Kashmir B]  Bihar
C]  Uttar Pradesh D)  Tamil Nadu.

147. slblpasiler Qurgs graousur o pifetse
A) 12 Bl 14
el 16 D} 18
The total strength of Rajya Sabha in Tamil Nadu is
A} 12 E) 14
C) 16 D) 18

148. gllpmrgdé gesaals i sms efipaiuBsfluat urt 1
Al @rreng B) @prwemd
C)  smogrg D} Qeueeligm .
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Whao was introduced the Kulakallavi Scheme in Tamil Nadu ?

Al Rajaji B) Ramaswamy

C) Kamaraj D) Jayalahrmaa.

149, gBl{pmin 196 LUTHTEHoeETD gafl Qeredleer assena o darear

A) 4 Qgredlest B) 5 Gligredles

C) 6 GQgredlest D) @eveu argeyblésemen

How many reserved Parlimentary constituencies are there in Tamil Nadu ?
A) 4 B) 5

C) 6 D) None of these.
150. 1926- b e |
A fdesd wphHil v sewbsel
B odfle @bfu snmdyd s e wirmrE Cesmanild poLCluhDE
C)  Hyrefen gl gl Lgdlflsens GerLksiu’ L g
Dl Gewes sgebléeme:.
In the year 1926
A)  Justice Parly formed its ministry
B)  All India Congress meeting was held in Madras
C) Dravidian Tamil weekly was started
D)  None of these.
151, usesn yredl sniGurg o grauTetgl ?
Al 1960 - b sy widhle B)  1950-b s widhilé
C) 1970 -b sim® il D) 1980 - siEu® widile.
The Green Revolution came on the scene around
A)  mid 1960 B) mid 1950
C) mid 1870 : D} mid 1980.

152. BesaiCaTas QUBSSD GE L HESR STTER. SBaTa e wrppb FHUBHDE 7

A) B Guuise B) fdl 2sal
C) Qurmennary euentésl D) @es sgabldome.
% r'rﬂzl | Turn over .
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Demographic pressure acts as a push factor in
A)  migration B)  financial assistance
C) e:,;onumic growth D]  none of these,

153. LréLr.@urgn. Cp. Qedaaur samavdara afl oroflusniy eap auGurg
DEUDHELLI L & T

A)  syme, 1990 Bl GQlelubut, 1992
C)  aymeu, 1991 D) gpen, 1993,

Dr. Raja J.Chelllah Tax Reforms Committee was set up in

A) August, 1990 B]  September, 1992
C) August, 1991 D) June, 1993.

164. ydlu Gpmfiperaame &b eoGurg & (HeurBaUiLLg 7
Al grrames, 1991 B)  grar, 1992
Cl  aysGumur, 1996 D) geraufl 1994
When was the New Industrial Policy announced ?
A} July, 1991 Bl  June, 1992
C)  October, 1996 D)  January, 1994,
155. eugemouilen Hlapey updlu yerefl allauriset sliug sarsdl iuGfng 2
Al e sen, (NAS) yerefl aleugiiae - Csélu samégmet
Bl adreaduad. (N.5.5) yarefl elledser - Ludum’ @ Csweaser
C) (A wbpo (B) s élu Gren@n
D)  @Geoa ergepbieme,
The incidence of poverty can be computed from
A) NAS data on national accounts
B]  NSS data on consumption of expenditure
C)  Both (A) and [B)
|§]] None of these,
156. wells shHnGrs Ghsa e es urerd euCura res Qubns 7
Al 1970 B] 1972
C)  198] D) 1985
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The World Conference on Human Environment was held on
A) 1970 B) 1972
C) 1981 D) 1985.

157. wiHw wrass  Gourc® aurflud aps a0l SEmwéssiiutLg 7
A) 1989 B) 1985
C) 1981 D) 1991.
The Central Pollution Control Board was set up in the year
A) 1989 B) 1985
C) 1981 D} 1981.

158. auen aflekig Lrgsmiyd SliLb ahg @ L Garsslul Lg 7
A) 1970 B) 1972
C) 1990 D] 1986.
The Wild Life Protection Act was formulated in the year
A) 1970 B) 1972
C) 1990 D) 1986.

159, sflppriige, 2001-b seoge pésabEros sanbeluy Ths wranch e
ke TS 2 w7

A)  semediur@uofl Bl  dlipeustgneut
Cl sy D} Geugyrit.
In Tamil Nadu, the district with highest density of population
is (as per 2001 Census)
A) Kanniyakumari . B}  Thiruvalluvar
€C) Cuddalore D) Vellore.
160. Gidlu serefd glipsd nisatarasds aps Faaulle o sarg 7

. Al syprb @b B] eperpTh G-k
C) ussmh @b D) @mbsTh @-b.
. In population among the all states in India, Tamil Nadu occupies the
A)  sixth position Bl  third position
C) tenth position D) f{ifth position.
% [ Turn over
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161. sllpssdlar wassiClaTes, 20010 SEEI(D FERMEGULY STEaIeTa| 7

Al 62.4 BHléelluen B)  60.3 dleeblusd
C) 64.4 (Flévedlwen D) ®Bl.5 tﬂlﬁ:éﬁme&‘r.
The population of Tamil Nadu was (as per 2001 census)
A) 62.4 million B)  60.3 million
C) 64.4 million D} 61.5 million.
162. @pdlur serelles sllpsin aopbpiialss abhs Hlenenllds 2 ereng) 7
A gELgTD @R)LD Bl  gprd @i
C)  uflepeiprid G D) ugrd GLib.
In literacy among the all states in India, Tamil Nadu occuples which position ?
A) Ninth position B] Seventh position
C) Thirteenth position D] Tenth position.
163, @)hélu iBg;.é‘lLu sl Qoo cutifleow Car_ies abg sbllg fAurfle Gleligg 7
A)  myélibner sblig B) g.eb. @ayGym sbllyg
C)  @bflu s’ Goey sbllg D) Quasgrger sbliy.
Which committee has recommended the establishment of National Co-operalive
Bank of India ?
A) Narasimhan Committee B} AM. Khusro Committee

C) Indian Co-operative Committee D)  Rangarajan Committee.
164. gl 1936 Gdlu s amd Qpmisiuc Curg Spe (psei® (Capital)

A} 15Camg Bl 5QCamy

C) 10Gamg D) 7 Gany.

The RBI was inaugurated in April 1935 with a share capital of
Al 15 crores B) 5 crores

C) 10 crores D) 7 crores.

165. UTI - Ggrissul L il

A dogeufl, 1974 Bl dugsufl, 1964

C) wrrd, 1970 ' D) gsbut, 1960 .
The UTI was formally established in

A)  February, 1974 B) February, 1964
C) March, 1970 D) December, 1960.
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8 b 5 @I_I_ﬁé]ﬂﬂ gomemsgllLwre e Sedlusr HNompesdr b

GlemLmsliul L &1

Al peust Egmo sublmd b

B)  sveuyen Qgupdl dgmo evalrrgat flo

C) Gaflu dyrwiyp Ceuaney eumiitny L id

D)  Geuemen eumbiny 2 gdlyeurpd &L b

The Million Wells Scheme was launched as a sub-scheme for

A)  Jawahar Gram Samriddhi Yojana

B) Swarna Jayantl Gram Swarojgar Yojana

C)  National Rural Employment Programme

D)  Employment Guarantee Scheme.

LraLt L.C. glgr G abs GCeudur’ e sauafliughers Hlubldsiu g 1
A) Ll & & hem & B) srldlips soCueflaer

C)  euells suhidlaer D) Blél Apeuanisetlen euentsdl.
Dr. L.C. Gupta Committee was appointed to look into the working of

A]  Stock exchange B) Insurance companies

C) Commerecial banks D) Development finance institution.

@bdlu germdludl, @pdu spdlusaviy sl gdlar aps Aflalldr Sp Mflseuena
Elwnd & w3

Al Sifley 320 B) e 280

C) 9fley 356 D) ey 325.

Under which Provision of the Article of the Constitution, the President is
required (o appoint Finance Commission 7

A)  Article 320 B)]  Article 280
C) Article 356 D) Article 325.
169. wrple Q@mflés Friumub wreny 2 ster &8l o srerg 7 .
‘ A) o ds plwanp FHludl B) =2 45 pgludp gasein BEluf
C) e wt fdlusp fHudl D) uwraull Geaveray BHufl.
) The industrial tribunals are consisted of a person of the rank of
A} Supreme Court Judge B]  Chief Justice of Supreme Court
C}  High Court Judge D)  Sessions Court Judge.
% [ Turn over
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170. @hglurellen Guyeney G\garr@;b&rrmmmmﬂé: Blaeyd LpeDUTETEl

Al @Gby ace® CIBT Pibsmenes B) ushd seflp Carfiperoe
Q) samé Qgrpiberene D) srdlg Qarifiherens.
The oldest large scale industry in India is
A} Iron and steel industry B) Cotton textile industry
c)  Jute industry D)  Paper industry.

171, Sipg swolaet prafssde ganaps psjb ag !
A) Gerggen B) ereflubisen
Cl et D) QuragesrGrr .
Which was the port town of the Indus Valley Civilization ?
A)  Lothal B) Kallbangan
C)  Ropar D) Mohenjodaro.

172, N6Caig sanésnybdle bl Sy duefiin
A g - shes LESTEETHE
B) et wppib g6 U
C)  Hps ueenperES
D) Spg woni sanddlh@ e usd!
“The main foecus of the Rigvedic culture was
A) the Indo-Gangetic Valley
B)  the Punjab and Delhl region
C) the Indus Valley
D) the region between the Swat and the Indus.
173, dbseei aursfUkisameT Haue :
mpn (A): efterer 1905 & amsrergans Qfigat
sryewnn (R} et Csflu hpiemcou sifses algoiem
FCip GPILIL Geren RS g é sfluren alleLous CetiCsd
A (A6 R ef. Redug (A) Sipg sfurer allerasd.
B) (A sf geme (R paup.
) (Al (R efl. gemme R) serug (Al elps sflures allendhal S48,
D) (A whpbd (R) GpanBl aupTerened.
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Consider the following statements :
Assertion {A) :  Curzon partitioned Bengal in 1905
Reason (R) : He wanted to destory nationalistic unity,
Now select your answer according to the coding scheme given below ;
A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
v B) (A} is correct, but (R) is wrong.
C)  Both (A) and (R} are correct , but (R} is not the correct explanalion of {A)
D) Both (A) and (R) are wrong.
174. SpédaciorL eurbdlumsener &aaf
fDpl (A) 1 yeures sk gpteyt o f srepde @hdluralhe, QuhHTIY,

amyeond (R): seufler wédlu Coréad ubs oeuimaen urtaeanil Gevedor@in
eremuiBg.
8By @I Peien @PS ne sfluren e eug CotiOzE
Al {A)b (R) b efl. (Rlecdiugm (A) e sflurer aflsndai,
o B) (Alb R)D efl. gyemrés (R) ararugy (A) afihe sflurer efendsis Siden.
Cj (A) &fl syemmén (R) seupy.
D)  (A)wbois (R) Gyeor@is sfumerenea,
Consider the following statements ;
Assertion (A) :  Hiuen Tsang came India during Harsha's rule.
Reason (R) : His main objective was to visit Buddhist shrines,
Now select your answer according to the coding scheme given hclm-.:- :
Al Both {A) and (R} are correct and (R} is the correct explanation ol (4)
B]  Both (A} and (Rj are correct, but (R} is not the correct explanation of (A)
Cl (A} is correct, but (R is wrong
D) Both (A) and (R] are correct .

. 175. 'ayeopuorg' erqpdlug wird?
A gGralndlrers srest B) usdln spdly s5Camiflumur
€ sypelpst D)  wgmper phsT.
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Who wrote ' Ananda Math' ?
A) Rabindranath Tagore
B) Bankim Charndra Chattopadhyaya
C)  Aurobindo
D) Madhusudan Dulla.
176. uCigwéd I @ ulguée Mo & Qurmsdl, £Gp Qen@asiuferer @B H e en
Qareso® sfuren el owus Carpbla® :

U g wes T uligwé IO

sridlyen Homeaurtse Blapb g0
a) goritel ey 1) syesmrurd 1888
b)  LmaLt.our Sl sd 2) e 1899
c) SenafGlus e 3)  sdasier 1917
d)  sGyrgledl mry® 4) syt 1928 .
@iimee

a b c d

Al 2 3 4 1
B) 1 2 3 4
C) 1 3 3 2

D)y 2 4 3 LS
Match List 1 with List II correctly and select your answer using the codes given

below :
List 1 . List I
President of Congress Place and Year

a) George Yule 1)° Allahabad, 1888
b) Dr. R.C. Duita 2) Lucknow, 1899
c) Anrnie Besant 3) Calcutta, 1817
d)  Sarojini Naidu 4) Kanpur, 1928,
Codes :

a b c d
A) 3 4 1
B) 1 2 3 il
C) 1 3 4 2 *
D) 2 4 3 ¥

X
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177. syudlGautaser shsEnaLy SQOD Qedlurale ghu@ss wrfl b guodlemuls

Gluhmentr 7
A) SudLIT B] sapradt
C)  ewmgpaes D) spengamdls .

The British received permission to establish their company in India from
A)  Akbar B)  Jahangir
C)  Shahjahan D)  Aurangzeb.
178. ‘Gaenfl Qeegr sibucub aliureps Hlepheg 7 '
Al 1920 B) 1923
C) 1922 D) 1921,
When did the 'Chaurl Chaura' incident take place ?
A) 1920 _ B) 1923
C) 1922 D) 1921.

179. sivs sragdd Gurt spflafiy sheg allowbesd

A)  uenseuafleh qurens wrEens GCleu BHe
B) umasueilan alleuiussener st Hd
C) uesseuatleh Garl el snl eslLDRISS

D) ureefler srard umsaualla ulitaoa yflssc.

During the Sangam Age, war was usually declared or provoked by

A) cutting the tutelary tree of the enemy

B) lifting the cattle of the enemy

C)  besieging the enemy's fort

D)  crushing the crops of the enemy’s territory under the feet of elephants.

180. Gl gren wergesal aUGUTARE 2 BeuTSs0IL LG 7

Al 1883 Bl 1882
C) 1884 D) 1886.
When was the Madras Mahajana Sabha formed ?
A) 1883 B) 1882
C) 1884 ) 1886.
x| 701] [ Turn over
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181, Epsacnaupblé ag faad CUrmssoras ?

Al Gamer cunELILTH — aEneRGans gl Wies alleuriD

B) Ggruf susmslium(® — sragGiart aleurb

C) ocmnextsms cuamaiiur®@ — usd afleunb

D) &0 eusmalun — sumLrhdly alleughd .

Which one of the following is correctly matched ? o

A)  Geographical classification —  Value based data

B)  Chronological classification —  Time series data

C) Quantitative classification —  Area wise data

™ Qualitative classification —  Yearly dala. J
182. dpaaamicuppdle ag flas aflureng 2

A)  Gunil e - slaems gurflhed

B) Gamumé — mesl s )

) Geurfrilevmt - cumemilid Seréad(n

D) asGlevd .- u g wellHse

Which one of the following is correctly matched ?

A)  FORTRAN —_ Typing a text

B) COBOL — Mathematical calculations

C) WORDSTAR — Business calculations

8]] EXCEL — Tabulation.

183. w'igwe T g ulqué Iz e Quressl, £Cp Car@ssiu Gersr GOl Heemers
Ganes() sfurar alloLows Caibbla® :

u g we T ulnwe I
a) e seneungdl 1)  seaud Caafliuat
b)  psd Heves shefl allaurh 2) s&aud smueul
¢ GO BT a1l 31  sasoud Ceafliy
d) G & ST SHE 4] (e sHa .
@ffpeer :

a b c d
Al 1 2 3 4
B) 2 3 4 1
C) 1 o 2 -4
D) 2 + 1 3

x | 701/
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Match List I with List II correctly and select your answer using the codes given

below .
List I List IT

a) Respondents 1} Person cellecting inlormation
b Primary data 2)  Person giving Information
c) Enumerator 3) Collection ol data
d) Census 4)  First hand information
Codes :

a b c d
A) 1 2 3
B 2 3 4 1
c) 1 3 2 +

D) 2 4 1 3.
184. PA) = 0.6 wppid PB) = 0.5, seflé fpésadacuppe &6 gflumeng 7
Al Auwppd Bgidlues elless Bapess
B) Auwhnib B g slue elledan Blapasel
C) Auvpgd B gidue Hiriy Blepeyset
D)  @emeu agoulldvemay .
If P{A) = 0.6 and P{B) = 0.5, then which one of the following is correct ?
A) A and Bare mutuallly exclusive events
Bl A and Bare not mutuallly exclusive events
C) Aand Bare complementary events
D) MNone of these.

185, 10 @b 30 &g G Cu a-sier UaT eTein BT ST S SN 7

A 7 Bl 4
€ & D} 6.
How many prime numbers are there in between 10 and 30 ?
A) 7 B 4
C) 5 D] 6.
x [701] ’ [ Turn over
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186, seaflafidle g HCaraul whph 6 Guar au’ wanlu aaheé sl
A) 1000 emul_ser wppn 100 £Garanul sel -
B) 1024 enu_set whnic 1000 £Garanul_set
C) 1000 smu”se whHpn 10000 e’ sei
D} 1024 enu sefr whpid 100 SGevrenu’ sef .
In computers, 1kB and 1MB are respectively equal to
A) 1000 bytes and 100 kilobytes
B) 1024 bytes and 1000 kilobyles
C) 1000 bytes and 10000 bytes
D) 1024 bytes and 100 kilobytes.

187. Avppd Beér Gurgg euug shCGurg 110. Bpug anrdbe ety swmiitaelsd
ouwgl allfhgn 4 : 3 aaflés A auug

A) 80 B) &5
C) 50 D)  35.

The sum of the ages of A and B is now 110 years and their ages 20 years ago
were In the ratio of 4 : 3. The age of A Is

A) 60 B) 55
C) 50 D) 35.
188. x= iy wibpib Y = %z Gedlléy X I Y ! Z & BOTET

A) L b B) 4:1:5
C) 1:5:4 D) 1:4:20.
Hx= iyandy: Slz then x:y: zis equal to

Al 1:4:5 E] 4:1:5
C) 1:5: 4 D) 1:4:20

189. gpeoy suglfleyetsr wrewmeut seflar afldlsorang 2 : 3: 5 6 o ereng. gedGeurt
suglileyb 40 prematest oflsflseb Gury alldsurarg 4 : 5: 7 ous wrlystsrg
aafléy Gueaurs Gurgs wremalasild aanafsmsurs s

A) 100 B) 180
) 200 D] 400.
x
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The students in three classes are in.the ratio 2 : 3 : 5. If 40 students are
increased in each class, the ratio changes to 4 : 5 : 7. Originally, the total

number of students was

A) 100 B) 180
C) 200 D) 400.
190. Sesreumsuaneuppiet ahsGursip sflurs GuUTEESHDE ?
A) 1235 — wir il
B) GOD — wrHled
) A+B — Gamienal
D) A+50 — senadwé wrdlell.
Which one of the following is correcty malched ?
A) 123.5 —_ Varlable
B) GOD — Constant
C) A+DB -— Expression
D) A+50 — Logical constant.
191. 100 - &@ib, 120 - feh @ Cuuyeien LT o Hmmeiedr saHen LTS 7
A) 424 B) 533
C) 648 D) 650,
What is the sum of all prime numbers between 100 and 120 7
A) 124 B) 533
C) H48 D) 650
102, pHlly 3 Gonasiul Hemaufiée 21, 28, 36, 45 gy fluaupnTe el eugUED
BasEeaphe e WTg ?
Al 420 B] 1257
) 1260 D) 1263,
The smallest number which when diminished by 3 is divisible by 21, 28, 36 and
45 is
A) 420 B) 1257
C) 1260 D} 1263.
x [701] [ Turn over
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193.

194,

195.

196.

x|'.ﬂ]l

62
apstimy eredmasetlsn aildlansst 35 ; 55 : 77. Spupplér SUGuE Qurgbstrad 24
erafliés 2icuElaietmaet Wrena 7
A) 420, 660, 924 B) 280, 446. 616
C) 840, 1320, 1848 D) 105, 165, 231.

The ratio of three numbers is 35 : 55 : 77 and their HCF is 24. Then the
numbers are

) 420, 660, 924 B] 280, 440, 616
) 840, 1320, 1848 ) 105, 165, 231.

GO ugllles 60 wremeutaer o eenent. padlagdle 75% wraoeutse Gatad
Cupaileamer. 45% wramaitss sflefuefis Catddl Qupaildme safld Gedaim
urLhismeflgun Catéd) Qupra wreameatasst apgemear Cut 7

A) 5 B) 6
C) 8 D) 12.

There are 60 students In a class. In an examination 75% of them had failed in
English and 45% of them had failed In Sclence. How many had failed both in
English and Science ?

Al a5 B) 6
cl 8 D) 12,
apaes pbe usn aamseldr syref wrg

A) 5.0 B) 52
C) 5.6 D) 6.0
The average of the [irst five prime numbers is

A) 5.0 B] 5.2
€] 586 D) 6.0

4% sl [ sl eipgdle el cupldsdld m.1,352 65 sagu Qpransie
&Iy erebra 7

A) 1300 enumil B} 1200 gpumri

£} 1250 emuml D) 1260 smumd.

A sum amounts to Rs. 1,352 in 2 years at 4% compound interest. The sum is
Al Rs. 1,300 B} Rs. 1.200

) Rs. 1,250 D] Rs. 1,260 .

|
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197. @b U@ Hlameowres ey wexfleg 15 &8 @ms:&.ﬂ{iéz Qedsding, waolise 3 &
Couspdler FyriLd 2oty eafle 12 plllLissila  FGrrCL Flenslles LL@

Claceudhenlg il ETD

A) 3.6 dlad B 2444

C) 15448 D) 1.8 &l

The speed of a boat in still water is 15 km/hr and the speed of current is
3 km/hr. The distance travelled downstream in 12 minutes is

A) 3.6 km B) 24km

C) 1.5 km 3] 1.8 km.

198, samestanyl Gumér shsbd 19 LLEG ST UL LG wppid Gecy 9 wLhE
e yeLwy aaile pamasfmgl Guré 15 bLbg AL uefrer  @lalallyy
s Consismad Gotgy Lmursfu 2 Cars saomanlle Ghs 2-Gansise abhg
g sdler @minh 1
A 1:2 B 2:53
C) 3:2 D) 19+ 135.

Gold is 19 times as heavy as water and copper is 9 times as heavy as water. The
ratio, in which the two metals should be mixed, so that the mixture is 15 times
as heavy as water, Is

Al 1:2 B) 23
C) Tk D) 19 : 135.

199. o Gameowu 3 goused, 4 fpartsesd 8 prisefld gpyourtad. 8
Gaummeowu 4 sasash 4 dpatsepd 6 prisefle qgourtser aafle 2
g@msamb 4 fpaitem splfammnu appma B L geflén apaOumest 7

Al 10 mrilsef B) 12 prisai
CJ 15 mrL &sit D) l16mnmissr.

If 3 men and 4 boys can do a work in 8 days while 4 men and 4 boys can do that
work in 6 days, then 2 men and 4 boys will finish it in

A) 10 days E} 12 days
) 15 days D) 16 days.
x| 701] | Turn over
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200. Gy wrgiflurer QeusurPsameas osuTand &8P syoul @efren UL tisefgysirar
aasEe @HssLLCLTS® afPUl L erar wrg?

6 ) 3
1 5 2 0 5 3
R
| 248 7
4 4 | B 7 1
3 6 9
A B C

A) 320 B) 274
C) 262 D) 132.

If same patterns of operations are followed in all the three diagrams given below,
then the missing number is

6

5
L
131 :,

3
A

Al 320 B] 274
C) 262 ' D) 132.

£ (701

Dream Dare Win
www.jeywin.com




65 PGEI

{ SPACE FOR ROUGH WORK )
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( SPACE FOR ROUGH WORK )
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